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Chapter 8 15 Glencoe Algebra 2



8-2 Practice
Solving Exponential Equations and Inequalities



Solve each equation.



1. 4 x + 35 = 64 x – 3 2. (  1 − 
64



   )   
0.5x – 3



  = 8 9x – 2 



 3. 3x - 4 = 9 x + 28 4. (  1 − 
4
  ) 



2x + 2
 = 64 x - 1



 5. (  1 − 
2
  ) 



x - 3
 = 163x + 1 6. 36x - 2 =  (  1 − 



9
  ) 



x + 1
 



Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
4
  ) and (2, 36.75)



10. (0, –0.2) and (–3, –3.125) 11. (0, 15) and  (2,   15 − 
16



  )  12. (0, 0.7) and  (  1 − 
2
  , 3.5) 



Solve each inequality.



 13. 400 >  (  1 − 
20



  ) 7x + 8
 14. 102x + 7 ≥ 1000x 15. (  1 − 



16
  )  



3x - 4
 ≤ 64x - 1



 16. (  1 − 
8
  ) 



x - 6
 < 4



4x + 5
 17. (  1 − 



36
  ) 



x + 8
 ≤ 216



x - 3
 18. 128



x + 3
 <  (  1 − 



1024
  ) 



2x



 19. At time t, there are 216 t + 18 bacteria of type A and 36 2t + 8 bacteria of type B organisms in 
a sample. When will the number of each type of bacteria be equal?
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Solve each equation.



1. 4 x + 35 = 64 x – 3 2. (  1 − 
64



   )   
0.5x – 3



  = 8 9x – 2 



 3. 3x - 4 = 9 x + 28 4. (  1 − 
4
  ) 



2x + 2
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Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
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 3. 3x - 4 = 9 x + 28 4. (  1 − 
4
  ) 



2x + 2
 = 64 x - 1
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Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
4
  ) and (2, 36.75)
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 ≤ 64x - 1
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36
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 ≤ 216
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x + 3
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1024
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 19. At time t, there are 216 t + 18 bacteria of type A and 36 2t + 8 bacteria of type B organisms in 
a sample. When will the number of each type of bacteria be equal?
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Solve each equation.



 1. 25 2x + 3 = 25 5x - 9 2. 9 8x - 4 = 81 3x + 6 3. 4  x - 5 = 16 2x - 31



 4. 4 3x - 3 = 8 4x - 4 5. 9 -x + 5 = 27 6x - 10 6. 125 3x - 4 = 25 4x + 2



Solve each inequality.



 7. (  1 − 
36



  )   
6x - 3



  > 6 3x - 9 8. 64 4x - 8 < 256 2x + 6 9.   (  1 − 
27



  )   
3x + 13



  ≤  9  5x -   1 − 
2
   



 10.   (  1 − 
9
  )   



2x + 7
  ≤ 27 6x - 12 11.   (  1 − 



8
  )   



-2x - 6
  >   (  1 − 



32
  )    



-x + 11
  12. 9 9x + 1 <   (  1 − 



243
  )   



-3x + 5
 



Write an exponential function whose graph passes through the given points.



 13. (0, 3) and (3, 375) 14. (0, -1) and (6, -64) 15. (0, 7) and (-2, 28)



 16. (0,   1 − 
2
  ) and (2, 40.5) 17. (0, 15) and (1, 12) 18. (0, -6) and (-4, -1536)



 19. (0,   1 − 
3
  )  and (3, 9) 20. (0, 1) and (6, 4096) 21. (0, -2) and (–1, -4)



Skills Practice
Solving Exponential Equations and Inequalities
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Solve each equation.
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 16. (0,   1 − 
2
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Solve each equation.
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Write an exponential function whose graph passes through the given points.



 13. (0, 3) and (3, 375) 14. (0, -1) and (6, -64) 15. (0, 7) and (-2, 28)
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Solve each equation.



 1. 25 2x + 3 = 25 5x - 9 2. 9 8x - 4 = 81 3x + 6 3. 4  x - 5 = 16 2x - 31



 4. 4 3x - 3 = 8 4x - 4 5. 9 -x + 5 = 27 6x - 10 6. 125 3x - 4 = 25 4x + 2



Solve each inequality.



 7. (  1 − 
36
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6x - 3
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27
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3x + 13
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Write an exponential function whose graph passes through the given points.



 13. (0, 3) and (3, 375) 14. (0, -1) and (6, -64) 15. (0, 7) and (-2, 28)



 16. (0,   1 − 
2
  ) and (2, 40.5) 17. (0, 15) and (1, 12) 18. (0, -6) and (-4, -1536)
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8-2 Practice
Solving Exponential Equations and Inequalities



Solve each equation.



1. 4 x + 35 = 64 x – 3 2. (  1 − 
64



   )   
0.5x – 3



  = 8 9x – 2 



 3. 3x - 4 = 9 x + 28 4. (  1 − 
4
  ) 



2x + 2
 = 64 x - 1



 5. (  1 − 
2
  ) 



x - 3
 = 163x + 1 6. 36x - 2 =  (  1 − 



9
  ) 



x + 1
 



Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
4
  ) and (2, 36.75)



10. (0, –0.2) and (–3, –3.125) 11. (0, 15) and  (2,   15 − 
16



  )  12. (0, 0.7) and  (  1 − 
2
  , 3.5) 



Solve each inequality.



 13. 400 >  (  1 − 
20



  ) 7x + 8
 14. 102x + 7 ≥ 1000x 15. (  1 − 



16
  )  



3x - 4
 ≤ 64x - 1



 16. (  1 − 
8
  ) 



x - 6
 < 4



4x + 5
 17. (  1 − 



36
  ) 



x + 8
 ≤ 216



x - 3
 18. 128



x + 3
 <  (  1 − 



1024
  ) 



2x



 19. At time t, there are 216 t + 18 bacteria of type A and 36 2t + 8 bacteria of type B organisms in 
a sample. When will the number of each type of bacteria be equal?
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Solve each equation.



1. 4 x + 35 = 64 x – 3 2. (  1 − 
64



   )   
0.5x – 3



  = 8 9x – 2 



 3. 3x - 4 = 9 x + 28 4. (  1 − 
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 = 64 x - 1
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 = 163x + 1 6. 36x - 2 =  (  1 − 
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Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
4
  ) and (2, 36.75)
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16
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2
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 16. (  1 − 
8
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 < 4



4x + 5
 17. (  1 − 



36
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x + 8
 ≤ 216



x - 3
 18. 128



x + 3
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1024
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 19. At time t, there are 216 t + 18 bacteria of type A and 36 2t + 8 bacteria of type B organisms in 
a sample. When will the number of each type of bacteria be equal?



005_032_A2CRMC08_890533.indd   15005_032_A2CRMC08_890533.indd   15 6/18/08   1:44:54 AM6/18/08   1:44:54 AM











image1.emf



C
opyright ©



 G
lencoe/M



cG
raw



-H
ill, a division of T



he M
cG



raw
-H



ill C
om



panies, Inc.



NAME  DATE  PERIOD 



 Pdf Pass



Chapter 8 14 Glencoe Algebra 2



8-2



Solve each equation.
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 4. 4 3x - 3 = 8 4x - 4 5. 9 -x + 5 = 27 6x - 10 6. 125 3x - 4 = 25 4x + 2



Solve each inequality.



 7. (  1 − 
36



  )   
6x - 3



  > 6 3x - 9 8. 64 4x - 8 < 256 2x + 6 9.   (  1 − 
27



  )   
3x + 13



  ≤  9  5x -   1 − 
2
   



 10.   (  1 − 
9
  )   



2x + 7
  ≤ 27 6x - 12 11.   (  1 − 



8
  )   



-2x - 6
  >   (  1 − 



32
  )    



-x + 11
  12. 9 9x + 1 <   (  1 − 



243
  )   



-3x + 5
 



Write an exponential function whose graph passes through the given points.



 13. (0, 3) and (3, 375) 14. (0, -1) and (6, -64) 15. (0, 7) and (-2, 28)



 16. (0,   1 − 
2
  ) and (2, 40.5) 17. (0, 15) and (1, 12) 18. (0, -6) and (-4, -1536)



 19. (0,   1 − 
3
  )  and (3, 9) 20. (0, 1) and (6, 4096) 21. (0, -2) and (–1, -4)
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Solve each equation.



1. 4 x + 35 = 64 x – 3 2. (  1 − 
64



   )   
0.5x – 3



  = 8 9x – 2 



 3. 3x - 4 = 9 x + 28 4. (  1 − 
4
  ) 



2x + 2
 = 64 x - 1



 5. (  1 − 
2
  ) 



x - 3
 = 163x + 1 6. 36x - 2 =  (  1 − 



9
  ) 



x + 1
 



Write an exponential function for the graph that passes through the given points.



 7. (0, 5) and (4, 3125) 8. (0, 8) and (4, 2048) 9. (0,   3 − 
4
  ) and (2, 36.75)



10. (0, –0.2) and (–3, –3.125) 11. (0, 15) and  (2,   15 − 
16



  )  12. (0, 0.7) and  (  1 − 
2
  , 3.5) 



Solve each inequality.



 13. 400 >  (  1 − 
20



  ) 7x + 8
 14. 102x + 7 ≥ 1000x 15. (  1 − 



16
  )  



3x - 4
 ≤ 64x - 1



 16. (  1 − 
8
  ) 



x - 6
 < 4



4x + 5
 17. (  1 − 



36
  ) 



x + 8
 ≤ 216



x - 3
 18. 128



x + 3
 <  (  1 − 



1024
  ) 



2x



 19. At time t, there are 216 t + 18 bacteria of type A and 36 2t + 8 bacteria of type B organisms in 
a sample. When will the number of each type of bacteria be equal?
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